Division par 0,1 (C)

Trouvez chaque quotient.

43 - 0,1 = 93 +0,1=
95 +0,1= 82+0,1=
27 +0,1= 5+01=
51+0,1= 41 +0,1 =
63+0,1= 8+0,1=
80+0,1= 44 - 0,1 =
63 +0,1= 78 +0,1=
93 +0,1= 48 - 0,1 =
53+0,1= 64 +0,1=
100+ 0,1 = 66 +-0,1=
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Division par 0,1 (C) Solutions

Trouvez chaque quotient.

43 + 0,1 =430 93 +0,1 =930
95 + 0,1 =950 82 + 0,1 =820
27 +-0,1 =270 5+0,1=50

51-+0,1=510 41 + 0,1 =410
63+ 0,1 =630 8+0,1=80

80 - 0,1 =800 44 - 0,1 = 440
63 + 0,1 =630 78 +0,1 =780
93 +0,1=930 48 = 0,1 =480
53+0,1 =530 64 + 0,1 =640
100 +0,1=1000 66 - 0,1 = 660
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